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+eEpdExl T1.1% T4.2% 87.6% 66.7% T4.2% 73.9% 79.5% 0.0% 67.5% 72.8% 65.4% 75.0%

Mg ToERE|| BERE (TR2IB~8A248) 517.69% XAZ4hE (128268~1868) [24.9% AZHE 3A21B~4A78) 91.0% XIEFEERIIEL —
I H & | 66 H - K165 & ] 62 H 60 K168 £ - K168 K62 H - 7K [55] K] 58 564
2H b - A 58 K | 66 | £ - K170 & | 62 H - K159 & | 46 A - x| 61 A | 59 48|
3H H - P - & | 64 H - K |1 60| - A 39 | K - b - K - £ [ 58] & | 53 274
4H A 67 7K - x - A 77| K | 58 H - K172 & | 59 H - K| 21 Ed - Ed - 354
5H K166 | K - H - K176 & | 64| B 65| K | 57 £ - A 60| K | 57 H - H - 445
6H K |64 & | 58| B 74 K | 62| £ - K| 65 K | 66 H - XK |62 & | 60| B 64 ( H 60 635
7H X | 36| - K| 71 A | 70 H - K |6l & | 6l A 69 | K | 58 £ - K | 59| Kk | 58 543
8H & | 68 H - K166 & | 63 A 54 | K | 66| £ - K| 64| K | 59 H - K | 57| K | 50 547
9 x - A 68 K |79 £ - XK |55 & | 57 H - K| 64] & | 58 A - AKX [ 59| K | 56 496
I0H H - K162 & | 66 H - K | 51 Ed - A - X | 68| - K |64a| & | 52| & | 56 419
I'1H A 71 K158 £ - H 68 K - H - KT TI & | 59 H - K159 £ - £ - 386
|28 K170 K | 68 H - K167 & | 26 A 68| K | 60| £ - A 62| K | 58 H - H - 479
|38 K165 €| 60| A 73 K | 63 £ - K167 K | 62 H - K165 & | 61 A 57 A 61 634
|48 X | 69| = - K177 K| 67 H - K163 & | 6l A 70 K | 64| £ - K| 62| K | 6l 594
I5H ES A B - K| 67 & | 6l A 16| K | 6l Ed - K| 67| K | 63 H - K | 54| K | 57 517
|68 x - A 70 K | 73| £ - K|35 & | 65 H - K| 61 £ | 60| B 61 A [ 58] K | 63 546
178 H - K| 64| & | 68 H - K | 51 Ed - A 67| K | 6l Ed - K [159 & [52] €| 50 472
| 8H A 721 K | 65| = - A - A | 55 H - K162 & | 64 H - K159 - Ed - 377
198 K| 66| K | 68 H - XK |70 £ | 58 A - K159 - A 68| K | 62 H - H - 45 |
20H K |1 63| & | 65| A 75 | K | 62| £ - K| 73 K| 62 H - K |66 £ | 58] A 55 A 64 643
21 H AXJ63] £ - KT74T K71 H - KT158] & [ 58] A 62 K163 £ - K T63] K - 512
22H & | 62 B - K178 & | 62 A 66 | K |63 £ 6 K166 K| 62 H - K | B3| K | 58 576
23H T 3 A 741 K | 70| = 7 K71 oy - H - 7K - 2 | 67 A 67| K - X | 62 421
24H H - K| 69| & | 65 H - K| 66| 7 A 68 K | 60| £ 5 K | 64| & | 51 & | 59 514
25H H 68| K |66 £ 7 A 57 | K | 62 H - K| 71 & | 62 H - K159 4 + 12 468
26H K| 60| K | 69 H - K174 & | 62 A 70 K | 66| £ 7 A 73| K | 62 H - H - 543
27H K| 64| & | 63 A 741 K | 60| = 7 K175 K | 67 H - K |59 & | 61 A 62 A 57 649
28H X |62 2 K170 K | 64 H - 7K 1 65| & | 58| H 66 | K | 56| £ 7 K | 54 K | 60 564
29H & - H - K |70 & | 64| B 72| K | 70| £ - K| 63| K& - = - - - K| 61 400
30H + - H 69| K | 73| = - K169 & | 67 H - K159 & - A 62 - - X | 67 466
31H — - K| 66 - - H - K| 67 - - A 67 - - + - K | 57 - - & - 257
53 — [1788] - |1698] - |1685] - |1913] - |1463] - |1646] - |1752] - |1636] - |1599] - |1475] - |1368] - |949|18,972]
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Sh2EE FLEGTREREERERELERLR
(B : A)
47 5H 6H 7H 8H 9A 10A I'1TH 28 ] 2R 3R &t
BEFIREH 32 32 32 33 31 28 25 25 23 23 22 22
FRFHEEE| 49.6% 45.3% 58.8% 72.4% 68.9% 69.3% 73.5% 75.8% 76.7% 79.2% 80.8% 81.8%
TR HFER 3.1% 3.1% 6.3% 9.7% 0.0% T.T% 0.0% 4.0% 4.3% 0.0% 4.5% 0.0%
rHtETEaERE|| BERE (TA22B~8R248)  63.89% A5HE (12A268~1A78)  66.8% &ZWE BA258~4A78) 77.1% XIBEREREIRL —
I H K123 & I 1 JZ] 9] K[ 22] £ - P 191 X |20 H - P 191 & - H 20 H 21 [ 1774 ]
28 X | 25| £ - P 16| K | 26 H - 7K 19| & |18 A 21 7K 16 | - K 171 K 17 175
3H € [ 25| B - K 17 & | 25| B 27 | K 19| £ - P - P 18| B - 7K 19 | K 18 168
44 + - A - S 18 - K| 21 & |7 H - 7K 17 & |7 A g A 18] K 19 136
5H H - P - & | 20 H - 7K 19| £ - A 9] K[ 20 £ - P3 14 & 17 & 19 128
6H A 26 | K - £ - A 25 X [ 24| H - P 19| &€ | 20| H - 7K 19| £ - x - 133
78 K I5] K 16 H - K122 & | 20| B 20 | K 16 | - A 18] K 19 = - B - |46
8H K| 2l & 16 A 20| K [ 22 ] £ - K120 K | 21 H - P 18| & 16 A |8 A 20 192
q9d S 19 + - K 17 & | 23 H - K 1|20 & 13 A 21 7K 17 - P3 17 K |8 165
I0H & 15 H - 7K 18| & | 23 A - A 19| - K 16 | K | 8 H - 7K 14 | K 16 |39
=] Ea - H 4] K 131 £ - K 131 & 19 H - 7K 181 & 16 H - K - A 19 112
128 H - K 12| & 15 H - 7K 7 x - A 22 | K 18 = - P3 I5] & 18| & |8 | 25
I13H A |1 7K |1 £ - A 25| K 5 H - P 16| & 19 H - 7K 19| £ - x - 106
48 K I5] K |4 H - K| 21 & 4 A 24 | K 16 | = - A 21 A 19 = - H - |34
158 7K 14| & 4| A 23| K [ 25 ] £ - K| 21 PN 15 H - X120 & |8 A 17 A 19 | 86
I16H S 13 = - K| 23 K| 24 H - 7K 17 & 18| A 21 7K 15 = - K| 20| K |8 | 69
178 & 15 H - K120 &€ | 22 A 26| K [ 20] £ - K121 PN |8 = - 7K 171 K |8 |77
188 £ - A 4] K 19 | - X123 & | 20 H - K| 2l & |8 A 19| K 18] K 17 | 69
19d H - P I5] & | 20 H - K[ 23] £ - A 18] K 17 = - K 19| & 16| & |1 |39
20H A 12 K 4 | = - A 24 | K | 25 H - K 19| & | 7 H - 7K 18 - B - | 29
21 H K 2] K 10 H - KT 21 & | 25 JZ] - 7K 5 £ - H 21 A 18 H - H - 12
22H 7K 13| & |1 A 20 K | 23| £ (0] P - A | 20 H - K 17 & 17 A 20 A 20 161
23H X |1 x | P 18| K - H - K 1|20 & |6 A - 7K 18 0 K - K |17 101
24H & |4 H - 7K 19| & - A 25| K [ 20| £ 0 K 19| K |7 = - 7K 19| K |18 151
25H x | A 10| K 19| 3 X123 & |7 H - 7K 19| & | 20 A 19| K 17 ] K 19 167
26H H - P 13| & 19 H - 7K 19| 2 A 20 | K 18 | K 16| & 18| & 17 143
278 A |1 7K 12 = 2 A 26 [ K | 25 H - K121 & |7 H - 7K 19 | x 0 |34
28H P 12| K |1 H - K125 & | 25 A 20 | K 18 | A |1 PN |8 = - H - 141
298 K - & 4| A 22| K [ 26| £ - K| 21 A | 21 H - P - & 17 - - A 20 141
308 S |1 x - K 19 K | 26 H - K 16| & 15 A 20 | kK - x - - - K 17 | 24
318 — - H - - - & | 26| B 27 - - T - - - A - H - - - K - 53
8% — [334[ - [233] - [416[ - [505] - [406[ - [390] - [386[ - [361] - |354[ - [328] - [321[ - [396] 4,430 |
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(AL A)
4R 5H 6H 7H 8H 9H I0R 1A 12A I A 24 3R &t
EHRRERK 36 36 37 38 39 38 38 38 37 36 37 35
TraEseEx 76.1% T4.T% 70.1% 79.5% 65.6% 68.8% 67.4% 71.3% T1.1% 65.8% 56.4% 68.4%
+EEndExl 2.8% 0.0% 2.7% 5.3% 2.6% 5.3% 0.0% 7.9% 2.7T% 2.8% 0.0% 5.7%
EmtErTRuRE|| EEHE (TH21A~88248) 74,19 AZHE (12A258~1A108) 56.8% AZAE (3B258~4A78) 16.2% X ITEEBRIIGRL —
I H A [T30] £ - K26 K27 H - K132 € [22] B 29 K128 £ - K120 %k 19 233
2H & | 27 =] - K[27] & | 32| R 21 X129 - K127 K | 29 = - 7K 0] 7K 19 211
38 + - A - X123 = - XK |30 % | 27 H - 7K - € [ 24| R - P 0 X | 24 128
48 H - P - & | 23 H - K129 - A 27| K | 29| £ - P 12| & 0] & | 24 |44
58 A 30 | K - + - A 34 [ K | 29 = - K124 & | 26 H - K22 - T - 165
6H K| 30 &K |27 H - X128 & |29 R 29 | K | 26| £ - A 29 | K | 23 H - H - 221
78 K| 2l £ | 27| R 25| K [ 30| = - K123 A< 128( 8 - K127 &€ | 21 A 24 | R 24 250
8H X128 & - K| 25 K| 26 H - K[28] & |27 R 28 K | 25| £ - K123 K| 24 234
98 & | 31 H - K|[26] & | 29| R - x| 24| = - K124 K | 29 = - 7K 18 K | 23 204
I0H + - A 28| K | 27| = - K126 & | 27 H - K |130| & | 24| B - A | 21 A | 26 209
1B H - K126 & 241 H - K122 £ - H 30 R [28] £ - KT 31 & - & | 25 186
128 A 31 K129 - A 33 &< | 23 = - K127 & | 26 H - K |30 £ - T - 199
138 X128 A< |26 H - K127 & I5| R 24 | K | 25| = - A 29 | A | 30| H - H - 204
|48 K129 & | 23] B 26 | K [ 29| = - K| 25 &K | 29 = - K125 & | 27 A 19 A 21 253
I5H X128 & - K| 26 K| 31 H - K|[26] & |25 R 30| K | 27| = - K| 22| Kk | 22 237
168 £ | 28] B - K[ 28] & | 3 A 26 | K | 22| = - K127 K | 25 H - 7K 18 K | 26 231
178 + - A 29 | K | 27| = - K| 28 & | 22 H - K|128| & 22| B 29 | K | 24| K | 22 231
1 8H H - K| 23 & | 25 H - K124 & - A 29 A | 30| = - K122 & 19| & | 23 195
198 A 31 K127 - A 341 K| 28] H - K| 28 & | 21 B - K24 £ - * - 193
20H K126 A | 24| H - K128 & | 27| A - K | 3 + - A 28 [ &~ | 25 H - H - 1 89
218 KT127] € 130] B 30 K33 £ - K125 KT 25 H - K127 & ] 24] R 171 H - 238
228 X129 = 0 K128 K - = - K[26] & |27 R 24 [ K | 27| £ I K123 k| 23 207
23H & | 26| B - K| 24| & - A 32 | K - + 0 P - A | 25 H - 7K - K| 26 133
248 + | H 25| K | 26| £ 2 K129 & | 26 H - K |25 &€ | 32| B 24 | K | 24| K | 26 240
258 H - K127 & | 26 H - K129 2 A 18] K | 28| £ I K21 & | 22| & | 29 203
26H H 25| K | 28 £ | A 33 K | 26 = - K122 & | 24| H - 7K 18| 0 * 2 179
278 K122 K] 28( H - X132 % | 30| H 29 | K | 20| £ 3 A 20| K | 24| H - H - 208
28H Kl24] % | 26 R 27 K [ 27| £ | K| 26 K |27 = - K24 & | 23| H 19| H 24 248
298 N - + - K| 25 K| 31 = - K| 28] & | 21 A 30 | K - T - - - K | 30 165
30H € |24 B - K[27] &% | 29| R 31 X126 = - K128 K - H - - - K | 23 188
31H — - A 31 - - + - K| 29 - - H - - - ES - A 20 - - A - 80
2% — |576| - 484 - |[572| - |[606( - [564| - [525| - [538| - [545]| - [527| - |451| - |313[ - [505( 6,206
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(AL A)
4R 5HA 6 A 7H 8H 9H I0R 1A 12A I A 24 3R &t
EaREK 54 58 56 54 54 53 53 53 53 51 51 51
raEyEEE 160.9% 149.7% 133.2% [73.6% 132.T% I5T.6% 161.5% 154.3% 149.0% 148.4% 137.4% 85.3%
TEEFEHEEx| 92.6% 82.8% 78.6% 70.4% 66.7% 73.6% 75.5% 0.0% 37.7T% 72.5% 72.5% 68.6%
EmtET LR E|| BEKE (TH21B~8R248)  50.1% AZ#hE (12A268~1A68) 109.2% &ZKE GBRE2/B~4A70) 83.3% X ITEEEREBIIA
I'H € | 40 ] H - K143 € | 36] B 35 K [40] = - K139 X140 H - K[ 41 7K T 40 354
2H + - A 30| K [ 45| = - K127 & | 42 B - K |40 & |34 A - A |40 K | 33 291
3H H - P - & | 36 B - 7K 0 x - A 39 [ K - + - P - £ | 34| & | 31 140
48 A 37 [ K - + - A 34 | K 0 H - XK |36 % | 37 H - 7K 18| - T - 162
58 K136 K - H - X135 & 0 B |40 K | 33| £ - A 39| X | 34| R - H - 217
6H K|[39] & |43 B | 44| K |39 = - K42 A< |38 A8 - K| 43 & | 31 A 30 A 29 378
78 X128 & - K139 K | 4l B - K |38 & | 39| B 39| K | 43| = - K127 Kk | 34 328
8H & |42 ]| B - K1 44| &€ | 36| A 30 [ K | 41 x - K132 A< 42| 8 - K| 32 K | 44 343
98 + - H |45 K | 46| £ - X125 & | 37 H - K |38 & | 43| B - A 133 K |37 304
I0H H - K| 48| & | 41 = - K24 £ - A - A |40 £ - K140 & | 31 £ | 33 257
18 A 441 K [650[ £ - H 34 [ K - H - K142 & | 35 H - K140 £ - T - 245
128 K142 K |51 H - K| 34| & 171 A 38| K | 41 b - A 37 & | 36 H - H - 296
|38 K|[a0o| & |47 B | 44| K | 36| = - K137 A< ]40( B - XK [39 & |34 A 38| A 36 391
48 X143 | = - K140 & | 38 H - K [39] & |38 A 36 | K | 39| & - K| 31 K | 35 339
I5H & | 37 H - K |43 ] & | 32 A 16 [ A | 38| = - K| 33| &K | 41 H - K| 37 K | 4l 318
168 + - H | 48| K | 44| £ - K| 24| & | 36 B - K|35 & | 38| A 35| K | 35| K | 31 326
178 H - K44 £ |40 B - K130 - A 37 &< | 38 = - XK |34 & | 28] & | 35 286
1 8H B |46 K |43 ]| £ - A - A | 29 = - X139 & | 39 H - K |36 £ - * - 232
198 KL as | K| 4l H - k|38 % |35 A - K| 44| £ - A 33 &K | 39 H - H - 274
20H Kla6| & | 43| B | 42| K | 40| £ - K| 36 K | 37 H - K[ 27 & | 34| B 38| A 33 376
218 A T45] £ - K T43 RKT44] H - K 138] & [ 35] H 37 K [28] £ - KT 31 K - 301
22H & | 42 H - K| 44| & | 42 A 40| K | 38| = 3 K| 33 &< | 30 H - K| 37 K | 43 352
23H x 0 A 34 | K | 48 £ 3 X135 & - H - 7K - & | 4| A 36 | K - A | 36 233
248 H - K145 & | 41 H - K| 36| £ 3 I=| 371 K | 40| £ 2 XK |36 &€ | 35| € | 39 314
258 B |44 K | 48| £ 3 B | 42| K | 39 = - X139 & | 33 H - K |37 2 * 3 290
26H XKl a4 K| 48| B - K143 & |36 B | 41 K| 40| = 4 A 30| K | 38| H - H - 324
278 K[50| & |39 A |47 K |38 = 2 K| 38| &K | 37 = - K129 % | 33| H 37 A 37 387
28H X147 = 4 K| 43 [ K| 39 H - K139 € |35 B | 4l K |20 = 3 K |30 k| 35 336
298 & - H - K|aa| & | 36 A 35 A | 38 = - K140 [ K - H - - - K | 33 226
308 + - H 41 X148 | = - K146 | & | 37 H - K |38 & - A 37 - - A | 32 279
318 — - K| 39 - - = - 7K | 43 - - B 37 - - T - K | 38 - - & - 157
5% — 11788] - [1698] - |1685] - |1913] - |1463] - |1646] - |1752] - |1636] - |1599] - |1475] - |1368] - |949|18,972]




